
CURRENT POLICY CONUNDRUM

1) ORGANIC:  We hoped manufacturing would 
take up the slack for weak housing & 
consumers. This isn’t happening as yet.

2) FISCAL: Deficits must close or the retirement 
problems will increase. But short-term deficit 
reduction would be contractionary and 
further weaken the economy.

3) MONETARY: Fed policy has limited impact. 
Like 2001, demand for credit is falling and 
banks are tightening lending standards.

4) FOREIGN: Exports will help, but to what 
extent? And a large stimulus would probably 
require a significant reduction in the value of 
the dollar. Is this acceptable?

5) “COMBO” APPROACHES: Might a 
combination of the above or some other 
“comprehensive approach” work ?



“COMBO” POLICY IDEA from
Joe Stiglitz, 2001 Nobel in Economics

1) Cut Govt. Expenditures &
Entitlements

2) Cut Taxes on Low Incom

3) Raise Taxes on Higher 
Income


